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QUESTION 1

Solve for x: (4x 1)2 = 121
A.-3

B. 4

C.3

D.6

Correct Answer: C

This equation can be solved by first taking the square root of both sides of the equation (4x 1)2 = 121 or

J(4x=1) =021
4x-1=11

Solving for x yields x= 3.

QUESTION 2

Evaluate the following derivative:

i(Eﬂ—lx—'}

dx
A. 3x2+2x B. 3x?-2x C. 9x?—4x D. 9x +4x

A. Option A
B. Option B
C. Option C
D. Option D
Correct Answer: C

The derivative of a polynomial is the sum of the derivatives of the terms of the polynomial, or:
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%(31‘3 —.1.\:—’) :i(lx-‘]—;—i(—zr—')

dx
| d 5
:ﬁ(l\:*]—a(lr)
=9x2 - 4x,

QUESTION 3

A student obtained an average of 86 for a series of seven assignments. Six of the grades were 85, 78, 83, 91, 89, and
86. The grade of the seventh assignment is:

A. 74

B. 86

C. 90

D. 98

Correct Answer: C

From the information in the problem,

Sum ol Terms
Number of Terms

Average=

85+78+83+91+89+86+x 512+«x
7 =

y=86x7-512=602-512=90.

86=

QUESTION 4

What is the mean of the data set?
A. 55

B. 66

C.78

D. 82

Correct Answer: D
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QUESTION 5

What is the probability that two cards drawn from a deck of cards are face cards (king, queen, or jack) of any suit if the
first card drawn is replaced before the second card is drawn?

A. 9/169
B. 1/16
C. 3/13
D. 1/26

Correct Answer: A
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